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Note: (a)All questions are compulsory. %’ﬁ"%% %%3&
(b)Marks are indicated against each question in square brackets. R “%‘A%;::.m
(¢) The candidarte is allowed to make Suitable numeric assumptions whgréj\;ér\{e"quﬁfed for
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Q.1.(a) Establish the relation between electric susceptibility?"ancii};gfative permittivity.
* [CO:1 ; Marks:1.5]
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(b) What is the difference between polar and non RP]a;

{CO:1; Marks:1.5]
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Q.2. What are the main polarizations Mechariists i1 dielectric materials? Discuss frequency and

temperature dependency of each mechaﬁj)s.g}g\i\} t, {CO:1 ; Marks:2]

Q.3. (a)Derive and discuss Cléff§;us Mbﬁsoti relation. [CO:2 ; Marks:2]
(b) Explain piezoelegtric and-pyroelectric materials with examples and applications.
[CO: 2 ; Marks:2]

al is subjected to an electric field of 1000 V™ and the resulting
em?. Calculate the relative permittivity of NaCl, [CO:1 ; Marks:2]

Q4. If an ion X y

polarization ﬁ;.f?)h{x 07

L

Q;’Si.@a_lé[l_l;‘te the electronic Polarization of argon atom. Given at r = 1.0024 at NTP and N = 2.7

x 10™atom m™ . e " [CO:2 : Marks:2]

Q.6.A solid contains 5 x 10%® atoms/m? each with a poiarisability of 2x 107 F m?, Assuming that
the internal field is given by Lorentz formuia. Calculate the ratio of internal field to the external
field. Eg=8.854 x 1072 Fm™". [CO:3 ; Marks:2)
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